\$957,377.94



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 16, 2023

Progress Estima	ate Number	Contract ID Prime Contractor	221118-D06 Christensen Construction Co.			Original Contract Amount Net Change Order Amount Current Contract Amount	t (\$8,000.00)
Approval Date							By User
May 18, 2023			Generated and Approved (a	nd should be consid	lered Draft) at	the Project Office Level by	garstw1
May 18, 2023		R	Reviewed and Approved (and sh	nould be considered	Draft) at the F	Resident Engineer Level by	kronej1
May 19, 2023			Reviewed a	nd Approved at the	Central Office	Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amount Complete
November 1, 2023	November 1, 2023		80.23%

	Contract Informational Date	tes	Milestones
Date Description	Original Completion Date	Current Completion Date	No Milestones Exist for Contract
Acceptance Date			
Awarded Date	December 6, 2022	December 6, 2022	
Letting Date	November 18, 2022	November 18, 2022	
Notice to Proceed Date	January 9, 2023	January 9, 2023	
Open to Traffic Date			
Work Began Date	April 28, 2023	April 28, 2023	

Contract Total P	ay For Estimate No. 3			
		This Estimate	Previous	To Date
221118-D06	Total Posted Items Pay Gross Item Adjustments Incentive Disincentive Liquidated Damage	\$957,377.94 (\$12,828.87) \$0.00 \$0.00	\$215,260.75 (\$2,092.11) \$0.00 \$0.00 \$0.00	\$1,172,638.69 (\$14,920.98) \$0.00 \$0.00
	Other Contract Adjustments	\$0.00	\$0.00 \$0.00 \$213,168.64	\$0.00 \$0.00 \$1,157,717.71
Contract Total P	ayable This Estimate:	\$944,549.07		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J5S3469	0010	2022010	REMOVAL OF IMPROVEMENTS	LS	\$5,000.000	0.5	\$2,500.00
	0020	2153000	SHAPING SLOPES, CLASS III	100F	\$1,350.000	2.5	\$3,375.00
	0030	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	TONS	\$78.100	286.88	\$22,405.33
	0040	4071005	TACK COAT	GAL	\$3.300	7,563	\$24,957.90
	0060	6161005	CONSTRUCTION SIGNS	SQFT	\$7.750	676	\$5,239.00
	0101	6181000	MOBILIZATION	LS	\$60,582.000	0.75	\$45,436.50
	0130	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$9.500	964.8	\$9,165.60
	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$9.500	222.6	\$2,114.70
	0150	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$94.100	6,306.66	\$593,456.71
	0160	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$94.100	2,465.22	\$231,977.20
	0170	6061060	MGS GUARDRAIL	LF	\$37.000	50	\$1,850.00
	0180	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	EA	\$3,850.000	2	\$7,700.00
	0190	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,600.000	2	\$7,200.00
Project J58	3469 - To	tal					\$957,377.94

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract

Revision 3/23/2023 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: May 16, 2023

Progress Estimate Number 3

Contract ID 221118-D06 Prime Contractor Christensen Construction Co. Pay Period Start May 2, 2023 Original Contract Amount (\$1,469,625.87 Pay Period End May 15, 2023 Original Contract Amount (\$8,000.00) Current Contract Amount (\$1,469,625.87 Pay Period End May 15, 2023 Original Contract Amount (\$8,000.00) Start May 2, 2023 Original Contract Amount (\$8,000.00) Start

roject	Line	Item Description	Adjustment	Other Item	Comments	Adjustment	Line Item	Adjustment
umber	No.	·	Туре	Adjustment Type		Quantity	Adjustment Unit Price	amount
S3469	0030	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material			-286.88	\$78.10	(\$22,405.33
	0030	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user garstw1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	286.88	\$78.10	\$22,405.33
	0150	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Material			-7,737.16	\$94.10	(\$728,066.76
	0150	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$9,223.49
	0150	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user garstw1 overridding Payment Estimate Exception 2 on the current Payment Estimate.	7,737.16	\$94.10	\$728,066.76
	0160	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Material			-2,465.22	\$94.10	(\$231,977.20
	0160	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment				(\$3,605.38
	0160	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user garstw1 overridding Payment Estimate Exception 3 on the current Payment Estimate.	2,465.22	\$94.10	\$231,977.20
	0170	MGS GUARDRAIL	Material			-100	\$37.00	(\$3,700.00
	0170	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user garstw1 overridding Payment Estimate Exception 4 on the current Payment Estimate.	100	\$37.00	\$3,700.00

Revision 3/23/2023 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on							
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work								
J5S3469	FAS S402(87)	Resurface	J, DD	HOWARD	from Roue Z to Route 5	and Route DD from Rout	e 5 to Route P							
Γotals by J	otals by Job Numbers													
J5S3469		ed Item Pay s Item Adjustm		s Item Pay	This Estimate \$957,377.94 (\$12,828.87) \$944,549.07	Previous \$215,260.75 (\$2,092.11) \$213,168.64	To Date \$1,172,638.69 (\$14,920.98) \$1,157,717.71							
	Liqui	itive centive dated Damages r Contract Adju			\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00							

Revision 3/23/2023 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J5S3469, Item 3107002, Project Item Line Number 0030, Material Set 310700296, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	Working with contractor to get tests/certifications.	garstw1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3469, Item 4020521, Project Item Line Number 0150, Material Set 4020521, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with contractor to get tests/certifications.	garstw1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3469, Item 4020521, Project Item Line Number 0160, Material Set 4020521, Material 0402SLPMSL - Plant Mix for Surface Leveling, Acceptance Action Generic AspSL is insufficient.	Working with contractor to get tests/certifications.	garstw1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3469, Item 6061060, Project Item Line Number 0170, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Working with contractor to get tests/certifications.	garstw1	Overridden
Estimate Exception Type: Insufficient Materials: Project J5S3469, Item 6061060, Project Item Line Number 0170, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Working with contractor to get tests/certifications.	garstw1	Overridden

Revision 3/23/2023 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
221118-D06	J5S3469	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$5,000.00	\$5,000.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	5.00	0.00	5.00	100F	5.00	\$1,350.00	\$6,750.00
		0001	0030	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	327.00	0.00	327.00	TONS	286.88	\$78.10	\$22,405.33
		0001	0040	4071005	TACK COAT	15,646.00	0.00	15,646.00	GAL	9,864.00	\$3.30	\$32,551.20
		0001	0050	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$500.00	\$0.00
		0001	0060	6161005	CONSTRUCTION SIGNS	1,329.00	0.00	1,329.00	SQFT	1,104.00	\$7.75	\$8,556.00
		0001	0070	6161025	CHANNELIZER (TRIM LINE)	75.00	0.00	75.00	EA	0.00	\$8.00	\$0.00
		0001	0080	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	2.00	\$4,000.00	\$8,000.00
		0001	0090	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	4.00	-4.00	0.00	EA	0.00	\$2,000.00	\$0.00
		0001	0100	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$70,000.00	\$0.00
		0001	0101	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$60,582.00	\$60,582.00
		0001	0110	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	172,656.00	0.00	172,656.00	LF	0.00	\$0.10	\$0.00
		0001	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	158,086.00	0.00	158,086.00	LF	0.00	\$0.14	\$0.00
		0001	0130	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	2,674.00	0.00	2,674.00	SQYD	2,674.00	\$9.50	\$25,403.00
		0001	0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	445.00	0.00	445.00	SQYD	445.00	\$9.50	\$4,227.50
		0002	0150	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	7,825.40	0.00	7,825.40	TONS	7,737.16	\$94.10	\$728,066.76
		0003	0160	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,717.40	0.00	4,717.40	TONS	3,996.49	\$94.10	\$376,069.71
		0010	0170	6061060	MGS GUARDRAIL	100.00	0.00	100.00	LF	100.00	\$37.00	\$3,700.00
		0010	0180	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	4.00	\$3,850.00	\$15,400.00
		0010	0190	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,600.00	\$14,400.00
		0001	5001	6189901	MISC.Adjust Mobilization for Contract Bond	0.00	1.00	1.00	LS	1.00	\$9,418.00	\$9,418.00
	Project J	5S3469 - To	otal Value	Posted to D	late as of Report Generated Date							\$1,320,529.49
21118-D06 Ove	erall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$1,320,529.49

Revision 3/23/2023 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J5S3469

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	2022010	REMOVAL OF IMPROVEMENTS	5/2/23	5/3/23	0.50	LS	SB side of Route DD Bridge					
0020	2153000	SHAPING SLOPES, CLASS III	5/2/23	5/3/23	2.50	100F	SB side of Route DD Bridge					
0030	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT	5/3/23	5/10/23	96.39	TONS	Route DD and Route J					
			5/4/23	5/10/23	52.53	TONS	Route J and DD					
			5/5/23	5/15/23	27.43	TONS	Route J and Route DD					
			5/8/23	5/15/23	21.27	TONS	Route J and Route DD					
			5/9/23	5/15/23	23.65	TONS	Route J and Route DD					
			5/11/23	5/15/23	65.61	TONS	Route J and DD					
0040	4071005	TACK COAT	5/2/23	5/3/23	1,126.00	GAL	EB Route J from Route Z to Route 87					
			5/3/23	5/10/23	965.00	GAL	Route J WB from MM 6.723 to 3.892	6.723		3.892		
			5/4/23	5/10/23	1,126.00	GAL	Route J WB	3.892		0.668		
			5/5/23	5/15/23	230.00	GAL	Route J WB from MM 0.668 to 0.000	0.668		0		
			5/8/23	5/15/23	1,494.00	GAL	Route J EB from MM 5.840 to 10.485	5.840		10.485		
			5/9/23	5/15/23	659.00	GAL	Route J EB from MM 5.840 to 3.773	5.840		3.773		
			5/10/23	5/15/23	1,416.00	GAL	Route DD SB from MM 6.210 to 1.692	6.210		1.692		
			5/12/23	5/16/23	547.00	GAL	Route DD SB from MM 1.692 to 0.000	1.692		0.000		
0060	6161005	CONSTRUCTION SIGNS	5/3/23	5/10/23	356.00	SQFT	Route J EB and WB Lanes					
			5/5/23	5/15/23	32.00	SQFT	Bridge at Route DD					2 BUMP signs
			5/10/23	5/15/23	288.00	SQFT	Route DD					- 12 UNEVEN LANES - 6 NO CENTERLINE
0101	6181000	MOBILIZATION	5/12/23	5/16/23	0.75	LS	Route J and DD					
0130	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	5/4/23	5/10/23	452.00	SQYD	END PROJECT AT INTERSECTION ROUTE 5	6.184		6.199		
				5/10/23	512.80	SQYD	BEGIN PROJECT AT INTERSECTION ROUTE P	0.000		0.020		
0140	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	5/4/23	5/10/23	55.60	SQYD	BEGIN PROJECT AT INTERSECTION ROUTE P	0.020		0.025		
				5/10/23	55.60	SQYD	END PROJECT AT INTERSECTION ROUTE 5	6.179		6.184		
				5/10/23	55.60	SQYD	SOUTH BRIDGE END	3.835		3.840		
				5/10/23	55.80	SQYD	NORTH BRIDGE END	3.880		3.885		
0150	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	5/2/23	5/3/23	1,359.00	TONS	EB Route J from Route Z to Route 87					
			5/3/23	5/10/23	1,107.01	TONS	Route J WB from MM 6.723 to 3.892	6.723		3.892		
			5/4/23	5/10/23	1,191.89	TONS	Route J WB	3.892		0.668		
			5/5/23	5/15/23	275.53	TONS	Route J WB from MM 0.668 to 0.000	0.668		0.000		
			5/8/23	5/15/23	1,524.11	TONS	Route J EB from MM 5.840 to 10.485	5.840		10.485		
			5/9/23	5/15/23	849.12	TONS	Route J EB from MM 5.840 to 3.773	5.840		3.773		
0160	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-22H (SUR	5/10/23	5/15/23	1,767.52	TONS	Route DD SB from MM 6.210 to 1.692	6.210		1.692		
			5/12/23	5/16/23	697.70	TONS	Route DD SB from MM 1.692 to 0.000	1.692		0.000		
0170	6061060	MGS GUARDRAIL	5/2/23	5/3/23	50.00	LF	SB side of Route DD Bridge					
		MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	5/2/23	5/3/23	2.00		SB side of Route DD Bridge					
0190	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	5/2/23	5/3/23	2.00	EA	SB side of Route DD Bridge					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 3/23/2023 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID: 221118-D06

STONE (B) PO	ct	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks	
CRUSHED CRUSHED CRUSH				Туре		Number	Date	Ву			
1	69	0030	CRUSHED STONE (B) OR	Material		3		SYSTEM	\$22,405.33	Estimate Item Adjustment (0001) due to user garstw1 overridding Payment	
Material - Total			OT IV			3		SYSTEM	(\$22,405.33)		
1000					- Total				\$0.00		
BTUMINOUS Material				Material - To	otal				\$0.00		
PAVEMENT Maturial 2023 Estimate Item Adjustment (0001) due to user graterty coverating Payment Estimate Exception 1 on the current Payment Estimate Payment Estimate Exception 2 on the current Payment Estimate Payment Estimate Exception 2 on the current Payment Estimate Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 2 on the current Payment Estimate Exception 3 on the current Payment Estimate Exception 4 on the current Pa		0030 -	Total						\$0.00		
2		0150	PAVEMENT MIXTURE	Material		2		SYSTEM	\$134,610.05	Estimate Item Adjustment (0001) due to user garstw1 overridding Payment	
2023 3 May 16, 2023 5 5 5 5 5 5 5 5 5			FG30-22H (3UK				2		SYSTEM	(\$134,610.05)	
ACAD - Total Collect Item ACAD 2 May 3 Qarstv1 (\$2,092.11) AC Adjustment for Estimate 0002. 1430.5 tons, 4.5% VAC.						3		SYSTEM	\$728,066.76	Estimate Item Adjustment (0002) due to user garstw1 overridding Payment	
Material - Total Supering ACAD 2 May 3, Garstv1 (\$2,092.11) ACAD Aca						3		SYSTEM	(\$728,066.76)		
Other Item Adjustment					- Total				\$0.00		
Acjustment 2023 3 May 16, garstw1 (\$9,223.49)				Material - To	otal				\$0.00		
2023 Still 2023					ACAD	2		garstw1	(\$2,092.11)	AC Adjustment for Estimate 0002. 1430.5 tons, 4.5% VAC.	
Other Item Adjustment - Total						3		garstw1	(\$9,223.49)		
State Company Compan					ACAD - Tota	al			(\$11,315.60)		
Discriminate Disc				Other Item A	Adjustment -	Total			(\$11,315.60)		
PAVEMENT MIXTURE PG58-22H (SUR PG58-22H		0150 -	Total						(\$11,315.60)		
Total System Sy		0160	PAVEMENT MIXTURE	PAVEMENT MIXTURE	Material		3		SYSTEM	\$231,977.20	Estimate Item Adjustment (0003) due to user garstw1 overridding Paymen
Material - Total			1 000-2211 (0010			3		SYSTEM	(\$231,977.20)		
Other Item ACAD 3 May 16, 2023 SySTEM (\$3,605.38)						- Total				\$0.00	
Adjustment				Material - To	otal				\$0.00		
Other Item Adjustment - Total O170 MGS GUARDRAIL D170 MGS GUARDR								garstw1	(\$3,605.38)		
O160 - Total											
Material 2				Other Item A	Adjustment -	Total			(\$3,605.38)		
Company Comp		0160 -	Total						(\$3,605.38)		
2023 3		0170		Material		2		SYSTEM	\$1,850.00	Estimate Item Adjustment (0002) due to user garstw1 overridding Payment	
2023 Estimate Item Adjustment (0004) due to user garstw1 overridding Paymer Estimate Exception 4 on the current Payment Estimate.						2		SYSTEM	(\$1,850.00)		
- Total \$0.00 Material - Total \$0.00 0170 - Total \$0.00 0180 MGS BRIDGE APP. TRANS SEC (REG/NO CURB) - Total \$2 May 3, 2023 SYSTEM \$7,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user garstw1 overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total \$0.00 Material - Total \$0.00						3		SYSTEM	\$3,700.00	Estimate Item Adjustment (0004) due to user garstw1 overridding Paymen	
Material - Total S0.00 MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Material - Total Material - Total S0.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user garstw1 overridding Payment Estimate Exception 4 on the current Payment Estimate. Material - Total S0.00 Fig. 40 S7,700.00 S7,700.00 S7,700.00 Material - Total S0.00						3		SYSTEM	(\$3,700.00)		
Solution			- To		- Total				\$0.00		
MGS BRIDGE APP. TRANS SEC (REG/NO CURB) Material 2 May 3, 2023 SYSTEM \$7,700.00 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user garstw1 overridding Payment Estimate Exception 4 on the current Payment Estimate. - Total Material - Total \$0.00				Material - To	aterial - Total			\$0.00			
APP. TRANS SEC (REG/NO CURB) 2023 Estimate Item Adjustment (0003) due to user garstw1 overridding Paymer Estimate Exception 4 on the current Payment Estimate. 2 May 3, 2023 SYSTEM (\$7,700.00) - Total \$0.00 Material - Total \$0.00		0170 -	Total						\$0.00		
2 May 3, 2023 SYSTEM (\$7,700.00) - Total \$0.00 Material - Total \$0.00		0180	80 MGS BRIDGE APP. TRANS SEC (REG/NO	Material					\$7,700.00	Estimate Item Adjustment (0003) due to user garstw1 overridding Payment	
Material - Total \$0.00						2		SYSTEM	(\$7,700.00)		
					- Total				\$0.00		
0180 - Total \$0.00				Material - To	otal				\$0.00		
		0180 -	Total						\$0.00		

May 20, 2023



Line Item Adjustments by Estimate

Contract ID: 221118-D06

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J5S3469	0190	TYPE A CRASHWORTHY END TERMINAL	Material		2	May 3, 2023	SYSTEM	\$7,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user garstw1 overridding Payment Estimate Exception 5 on the current Payment Estimate.
		(MASH)			2	May 3, 2023	SYSTEM	(\$7,200.00)	
				- Total				\$0.00	
			Material - To	otal				\$0.00	
0190 - Total								\$0.00	
J5S3469 - Total								(\$14,920.98)	
Overall -	Overall - Total								

MoDOT

Contract Adjustments for Contract - 221118-D06

There are no contract adjustments to display for this contract.

Revision 3/23/2023 Page 9 of 9